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3. 

4. 

1. 

2. 

T? 

In a certain code language, "INDIA" is written as "HMCHZ". How will "CONSTRUCT" be writh 

in the same code language? 

(a) 

(a) 

(2) 

a (1) 
Consider the following statements with respect to the "Pattachitra" painting: 

BNSQTMRBS 

(1) These paintings are popular art form based on temple traditions. 

These have received GI tag from both West Bengal and Odisha. 

(a) (1) only 

(c) 

Which of the statements given above is/are correct ? 

(b) (2) only 

(a) 8 

BNMRSQTBS 

(b) haT (2) 

af f HIHAI 

ZARI 372 ZHR , 558 fA 3R 1116 | re HHH Gs0 THT TS }I S4h 3GI, aB 

(a) Bhim Singhji Case 

PG-01/B 

(b) 

(c) Minerva Mills Case 

(c) (1) otr (2) ¿d (d) (1) r T (2) 

11 

(b) 11 

(a) 8 

Ramesh wants to plant 372 tomato plants, 558 chilli plants and 1116 onion plants in equal rows. Also, 
he wants to make distinct rows of each plant, i.e. every row should have only one kind of plants. 

What are the minimum number of rows that are required ? 

(c) 

(c). 

Both (1) and (2) (d) Neither (1) nor (2) 

(c) 

2 

14 

(d) BNQTMRSAT 

14 

(b) I HIG0 HT4HI 

In which of the following judgments, Supreme Court held that the harmony and balance 
between Fundamental rights and Directive principles of State policy is part of basic structure ? 

(b) Indira Sawhney Case 
(d) Kihoto Hollohon Case 

(d) 16 

(d) 16 

(b) MRSBNQTAP (c) 



5. 

6. 

7. 

8. 

9. 

Which one of the following is NOT a mathematical function used in spreadsheet 2 

(a) SUM() 

(a) 8 

T 0G�TS0 P 3r O HI LCM, (P> Q) 1073 }I at Ht ds 3icR 

LCM of two prime numbers P and Q (P > Q) is 1073. What is the difference between the two 
numbers? 

What does the term "gutter margin" refer to ? 

() 

(b) ROUND () 

(a) Margin that is added to the left margin when printing. 

2,9/2, 28/3, 65/4, _ 

(b) 12 

(b) Margin that is added to the right margin when printing. 

Find the missing ternm in the given series. 

(a) 126/5 

Margin that is added to the binding side of page when printing. 

(d) Margin that is added to the outside of the page when printing. 

(c) 

PG-01/ B 

(a) National Education Policy 

Biofuel Policy 

(c) 

(b) 95/5 

LINE () 

(c) 6 

(b) 

(d) 

(b) Z teif -f 

The "National Credit Framework" has beern formulated to fulfil the vision of : 

3 

(c) 113/5 

(d) COUNTIF () 

New industrial Policy 

(d) 14 

(d) 15 

National Health Policy 

P.I.0. 



11. 

12. 

10. 

13. 

(1) 
(2) 

(a) a (1) (c) (1) str (2) td a (1) sit a t (2) 
Consider the following statements with reference to the National Commission for Protection of 

(2) 

(1) 

(a) 

(a) 

(a) (1) only 

() 

Which of the statements given above is/are correct ? 
(b) (2) only 

PG-01/B 

It is a statutory body under the administrative control of the Ministry of Women & Child 

Development. 
It inquires into violation of child rights and takes suo-motu notice of matters relating to 

deprivation and violation of child rights. 

A, D, J, S, E, T, ?,? 

Owing to some negligence, instead of multiplying a number by 6, a person divided that number by 
9. What is the percentage error in the obtained result, i.e. the error as a percentage of the correct 
value ? 

98.14% 

(b) ha (2) 

Find out the missing terms in the following series. 

G, N 

Kandhamal Haldi 

Consider the following pairs: 

(c) Joha Rice 

(b) 88.28% 

(b)| Idu Mishmi Textiles 

(b) FJ 

(b) haT 

Geographical Indications (GI) tag: 

(b) Only two 

(c) 

4 

(c) 80.8% 

(c) 

(ef L, G 

State 

Rajasthan 

How many of the above pairs are correctly matched? 

(a) Only one 

:Odisha 

Both (1) and (2) (d) Neither (1) nor (2) 

Arunachal Pradesh 

(c) 

(d) 

All three 

(d) 96.66% 

(d) K, H 

(d) t0 

(d) None 

Child Rights (NCPCR): 



14. 

(a) 

(a) South-West 

(a) 

Amit faces North initially, Turning to his right he walks 25 metres. He then turns to his left and 

walks another 30 metres. Next, he moves 25 metres to his right. He then turns to his right again and 
walks 55 metres. Finally, he turns to the right and moves 40 metres. In which direction is he now 
from the starting point? 

(a) 

afèu-ufg 

(a) 

18 

(c) 

18 

(b) fau 

A + B 1 ef 'A, B 61 faTI 

A -BT ef'A, B â YtÝI 

In three coloured boxes- Red, Green and Blue, 108 balls are placed. There are twice as many balls 
in the green and red boxes combined as there are in the blue box and twice as many in the blue box 
as there are in the red box. How many balls are there in the green box ? 

AxB aT 3e'A, B HT IS SI 

A+B AT 3ef 'A, B â t 

(b) South 

P, Q h1 GES 

(b) 

P, Q HT l 

(c) 

36 

(b) 36 

PG-01/B 

A + B means'A is father of B', 

Read the information given below carefully. 

A - B means'A is wife of B'. 

AxBmeans'A is brother of B'. 

A+Bmeans'A is daughter of B'. 

P is uncle of Q 

(a Pis brother-in-law of Q 

(b) 

(d) 

() 

(b) 

(c) 

5 

(c) 

IfP'X-Q, then which of the following must be true ? 

North-West (d) South-East 

45 

45 

P, Q HT TS 

P, Q at faI 

(d) aferu-gá 

P is brother of Q 

(d) P is father ofQ 

(d) None of the above 

P.T.O. 



17. 

In a 100 metres race, Gagan starts 30 metres ahead of Raja, but Raja wins the race while Gagan is still 

eoe bahind If both start running at te salie tme, then what is the ratio of the speeds of Raja 

and Gagan ? 

(a) 2:3 

select the records (rows) to be displayed ? 

(a) 

(a) 

(a) 

(a) 
(b) 
(c) 

(a) 
(b) 

Which function in a spreadsheet inserts a combo box on one or more data columns that lets you 

Auto Filter 

(c) 

(b) 4:3 

. 100 

(d) 

PG-01/B 

Rs. 100 

(b) 

(b) 

(d) Aefka fhyr GI HChdI 

(b) 

Suman received 5 gifts from her friends in her birthday party one by one. The total cost of all cit 

was Rs. 1000. If the cost of each gift was Rs. 30 less than its preceding gift, then what was the valo 

of the least expensive gift ? 

Freeze 

(b) 

5. 110 

Rs. 110 

(c) 5:3 

X2 and X2 

(c) 

(-) 

In the Font group of the Home tab, which symbols indicate Subscript and Superscript respectively ? 

(a) Xand X2 

(c) 

Hide 

6 

F. 140 

() 

Rs. 140 

X²and 2X 

(d) 3:5 

20% of the price of Rice < 4% of the price of Wheat 

20% of the price of Rice >4% of the price of Wheat 

(d) Swap 

On selling one kg rice at 9% loss and one kg wheat at 13% gain, Naved gains Rs. 9. If he sells one kg 

rice at 9% gain and one kg wheat at 7% gain, he gains Rs. 16. Which of the following is true? 

20% of the price of Rice = 4% of the price of Wheat 

Cannot be determined 

RIT? 

(d) $.170 

(d) Rs. 170 

(d) 2X and X² 



22. 

23. 

24. 

(2) 

(3) 

(a) 

() 

hai (1) ir (2) 

hai (1) 3r (3) 

(2 

WHh reference to Ayushman Bharat- Pradhan Mantri Jan Arogya Yojana (AB-PMJAY), consider 
the following statements : 

(1) Itis the world's largest government-funded healthcare program. 

The beneficiaries under the scheme have been identified on the basis of the Socio-Economic 
Caste Census, 2011. 

(8) National Health Authority (NHA) is the nodal agency for its implementation. 

(a) (1) and (2) only 

Which of the statements given above are correct ? 

(c) (1) and (3) only 

(a) 3 

15 3 1947 ch ca- T ? 

(a) chcR 

(b) a (2) r (3) 

How many gold cylinders of radius 12 cm and height 7 cm need to be melted to make a gold cube 

of side 4 cm ? 

(b 1 

(d) (1), (2) otr (3) 

(a) Friday 
PG-01/B 

(b) ocR 

What was the day on 15" august 1947 ? 

(b) Thursday 

(b) (2) and (3) only 

(d) (1),(2) and (3) 

7 

(c) 2 

(c) erfAaR 

(c) Saturday 

(d) 4 

(d) TaR 

(d) Tuesday 
P.T.0. 



25. 13 3TGt 3tr 24 MSch yci HTH at 4 id 

(a) 3:2 

(a) 3:2 

(a 

13 men and 24 boys can do a piece of work in n4 days, while 12 men and 16 boys can do the same in 

5 days. What is the ratio of the daily work done by a man to that done by a boy? 

(a) 

(c) 

How do you align text to the center in a document ? 

(b) 

(a) 

Ctrl+C 

2:1 

(c) 

(b) 2:1 

(b) 

PG-01/B 

Ctrl+E 

GTcfi yrigq?H 180 }1 

(b) Runs scored in the next inning is 186. 

7. hebz g hq are AR 5 qiRut 135, 128, 155, 230 TR 162 11 T 3HÊI 3t grt à a 

Runs scored in the next inning is 180. 

() 4:7 

Runs scored in the next inning is 190. 

(d) Runs scored in the next inning is 184. 

(c) 

In a cricket world cup, Virat scored 135, 128, 155, 230 and 162 runs in 5 consecutive innings, If aftor 

his next innings his average score increased by 4 runs, then which of the following is correct ? 

8 

(C 

4:7 

(d) 3:1 

Ctrl+L 

(d 3:1 

(d) Ctrl+R 



28. 

29. 

30. 

(a) 
(c) 

(a) 

Which option can be used to set custom timings for 

automatically flip slides in sync with your speeches ? 

(c) 

23@ + 5@ + 1@4@ + 4@ + 18@ = 154@ 

Slider Timings 

Consider the following expression : 

Setup Slide show 

23@ + 5@ + 1@4@ + 4@+ 18@ = 154@ 

(a) 

Symbol @ stands for which digit ? 

(a) 

(b) 

(d) qfadeh1 3af 

1 

PG-01/B 

(b) 

slides in a presentation, to make MS Powerpoint 
Rehearse Timings 

(d) Transition Duration 

Mehul catches up with Aditya in less than 25 seconds. 

(b) Mehul catches up with Aditya in more than 30 seconds. 

Ina race, Mehul touches the finish line in 60 seconds and beats Aditya by 20 seconds. If Mehul gives 
Aditya a head start of 10 seconds, then in how much time will he be able to catch up with Aditya ? 

(c) Mehul catches up with Aditya in 25 seconds. 

(d) Mehul catches up with Aditya in 30 seconds. 

9 

(d) 3 

230 

P.T.O. 



31. 

33. 

34. 

35. 

32. Change each sentence into passive voice by choosing the correct option. 

Find the word that means the same as the given group of words 

activities. 
A person who believes in or seeks to promote the welfare of others, often through charitable 

(a) Altruist 

() 

P 

The students are discussing the upcoming exam in the library. 

(a) The upcoming exam will be discussing in the library by the students 

(b) The upcoming exam is discussed in the library by the students. 

Q 

S. 

R. 

(d) The upcoming exam is being discussed in the library by the students. 

Arrange the given parts of the sentence in the correct order to make a meaningful sentence : 

(b) Misogynist 

The upcoming exam is discussing in the library by the students. 

four degrees below normal 

icy winds lashed Srinagar 

with minimum temperature registering 

(a QSRP 

which was already in the grip of gruelling cold wave conditions 

PG-01/B 

(b) 

(a) To criticize someone openly 

QPSR 

(b) To be extremely cautious 

Match the idioms and phrases with their meaning from the given options. 
Bite the bullet 

(e To change one's mind frequently 

(c) Misanthrope ( Philanthropist 

(d) Accepting a difficult situation bravely 

(a) hot 

The Sahara Desert is one of the 

(b) 

Choose the correct degree of adjective for the sentence from the given options. 

hotter 

(c) QPRS 

10 

place on the planet. 

(c) 

(d) SPQR 

more hot d hottest 



36. 

37. A-ffa : 

38. 

(a) 

39. 

(a) 

(b) 

(a) 

(a) 

I 

II. 

(a) 

(a) 

(C) 

PG-01/B 

HBcq+341GhiT 

(b) jcheur (c) yraT, 

11 

(c) 

(d) 

(d) 

31Ch 

HBci+314hiT 

(), (3), (), (a) (b) (3), (a), (a), (4) et (a), (1), (), (a) (d) (a), (), (a), (3) 

P.I.O. 



41. 

42. 

(a) 

(b) 

(C) 

(d) 

What is the essence of an effective classroom environment 2 

(at Vibrant student teacher interaction 

(b) 

(c) 

(d) 

(a) 
() guf rtrt 

() 

Variety of teaching aids 

(a 

Strict discipline 

(a) Equal Opportunity 

Evaluation results 

Which of these is not mentioned in Person with Disability (PWD) Act ? 

(c) fac fdaI 

Full Participation 

(C) 

(a) Social Development 

() Moral Development 

(a) fg sg 

PG-01/B 

(b) 

(a) Learning Objectives 

(d) 

Moving from abstract to concrete thinking represents which of the following characteristics of an 
adolescent learner ? 

(c) Instruction activities 

(b) 
(d) 

(d) 

Compulsory Education 

Protection of rights 

(b) Intellectual Development 

(d) Emotional Development 

Which of the following components of instruction is not aligned with effective teaching? 

(b) fcht 
(a) 4-Hru0h-t 

(b) 

12 

Assessment 

(d) Self Appraisal 



45. 
(a) e 

Education Policy 2020 ? 

(a) 

What was the name given to the National Assessment Regulator proposed in the National 

(a) gTAI� 

(c) 
(d) 

(a) 
) 

(c) 

(d) 

What are the main features of National Education Policy 2020? 

(c) 

Disha 

(c) 

(c) 

(a) toi grJH 

multilingualism 

(a) 

(a) frST 

PG-01/B 

(b) 

coordination between art and science 

all of above 
teacher education 

50. H HTE-AZ gÈ: 

(b) Parakh 

yegdH 

(C) 

(b) edIdH 

(c) Diksha 

(b) totgHÌ Jtt 

13 

(b) H5-s 
(d) rat 

(c) eJIdH 

-oOo 

(d) Arrr 

(d) Nikhaar 

(d) egrdH 

P.I.O. 


